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i a - e  REfEE _ EBR
=2 i 4 ERR | PR (kg) M) | =@ | sE il | PE M (BAL)
Y3002 =4 (EF) 6 5216 1,512] 1,512 SOETR 6kg
Y3011 HAM () 11 3,629 540 108 108 | & llkg
31200 (L 7 3,672 108 108 97 B 353K
Y3014 AR EE 5 1,555 | 65 65 65 | B 243
Y3033 ZZHNAT 270 28, 004 173 119 32| B 270kg |
36200 B 50 3,024 65 65 54| BA 50kg
34930 LA 29 4,325 59 36 36 | BA 954
34980 ~b = 4 1, 339 108 86 86 | BN 14K
35940 EVEACA 154 77, 209 540 540 43| B 154kg
34800 < & g 4, 396 119 119 119 BN 37% v b
36340 & LN EE 32 10, 919 540 432 108 B 3%kg |
37600 Ay HAS 2 1,123 756 594 594 | &P 2kg
49470 Ry a I A—Y 2| 2,160 108 108 108 | BN 201&
71150 | LiF 2, 592 108 76 76 | B AN 0|
30100 72V 2 A L 100 5, 832 76 65 43 | AbiEE 1004
30300 A% L 100 8,856 1,080 864 864 | ALiEE 07— |
30400 ZUF 5 L 10 2,160 2,160 2,160 2, 160 FERE 1r—=
31100 A3 L 15| 5,076| 5,076 5,076 5,076 | E& 17—
33810 HHFEH 12 6, 156 54 54 49 | B9 12018
33810 HAEE 8 7,560 3,780 3,780 3,780 RS 2 —A |
37440 Mvbin 2 896 - 896 896 896 T Vr=—2%
Y5005 7KEAN 5 1,534 1,534 1,534 1,534 | K% 1r—2=
31700 % ¢~ 110 16,848 1,620 1,620 1,404 B 1r—x
31800 IEHMNAK 4 4,752 238 238 238 | Hlk 20%%
31900 X 15 16, 848 648 540 486 IR B 303 (500g) |
31930 “hX 6 7,992 162 140 108 | f&[E 6043 J
32800 25 10 410 5 3 3| E i 1003k
34300 72 40 12,366 1,620 1,512 1,512 AEA 8ir—= |
34300 722 L 25| 2,376 1,080 324 324 | H G 5 — 2
34400 k= h 16 7,236 1,836| 1,836 1,728 | K% ar—= |
34400 k< h 3L 12 4, 860 1, 620 1, 620 1,620 |REA 34—
34400 k= k M 12 8,100 2,700 2,700 2,700 REA 3r—=
34460 I =L E & M 8 7,052 194 162 162 |REA Yy
34100 K 60 30,996 | 2,808| 2,376 2,376 BERE 1247 —2 |
34100 K 2L 50 36,180  3,780] 3,780 3,240 HEA 10— |
34100 #L 35 27,216 3,888 3,888 3,888 At Th— 2
34200 /I 20 5,616 281 281 281 BB 920kg ‘
34500 B 3,240 108 108 108 | K4y 3058 |
34500 | E—v T 4 1,701 119 92 32 ‘EW 1943 1
36200 B IERS 30 3,240/ 1,080 1,080 1,080 F#% $r—= |
36200 BEE 2L 30/ 6,480| 2,160| 2,160 2,160 HZE 3r—x |
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=t s g | SR | R (kg) &8 (M) i B g i B (Bfr)
36210 A—2 A (F) 40 3,888 1,296 864 648 | H 2 Ar—z |
36300 EFE T 10/ 1,080 108 | 108 108 | FEIR B 10kg

36600 ~EnZE 25 1860 4,752 756|540 540 |EE  8F—=
36600 7ERX LKk 120 13,176 2,376 2,160 2,160 it 64— A
Y3027 Ly REERE 3] 1,134 378 378 378 | 7 A U% ke ’
37200 L x 5 A8 2L 12 4,644 1,620] 1,512 1,512 HE 34— R
33400 L&A 6 3,024| 3,024 3,024 3,024 |EFF ir—=
33600 /3t Y Y 1,188 378 378 216 | K%y s
38100 AL 8| 4,968 76 54 54 | H I 80,8y
34980 ~bHE ) 6 713 36 36 36 |EIEE  20&
31310 AT%E 4] 4,104 205 205 205 [fEM 2048
31500 /MASE 8| 5,400,  2,700| 2,700 2,700 & 247 — 2
31500 /MASE ) 4,536 | 140 103 103 ERE 4048 ]
34800 <5 2 1,652 76 59 59 IR S 2788 7
37560 BT 1 4,050 432 432 378 | K%y 1075 7
38400 ZDXH 5 1,206 1,296 1,296 1,296 R 1r—=
38400 2D EE 5 .370 8 8 8| T 0%
38400 x DX E 25 2,700 11 11 11 ERE 25048

YA008 /NP7 ABAA M 10 5,076 2,700 2,700 2,376 |ERE 29—z |
49320 [PaFI—AF 20 11,232| 5,616 5616 5,616 B 24—
42850 EAKOAC | 10 5,616] 5616 5616 5 616| & 14— 2
43140 B L | 9 6, 480 216 216 216 | pEA 30,3y
45230 EMERY S 20 18, 619 324 281 281 | /& 66/5y 7
45241 F7p L EA—% 3 2, 808 281 281 281 FEA 1057 |
Y4019 = =—~U—A 18 16, 351 281 281 270 | EA 59,5 2
44000 &% 20 6,606  1,944| 1,944 1,404 | B 44—
Y4007 AT EF A 20 14,256|  3,564| 3,564  .3,564|—=—U— 44 —2

j 7K
Y3031 KfR 100 | 18, 004 1, 800 1, 800 1,800 | EIR & 104
R 1973 558,555




